x=2(y+1) -2

(x+2)* +y* =16

2 2
(X+4) +(y_1) =1
9 16

y=-2(x+1)" -1

(x=1°+(y-17 =9

X“+-—=1
16

y=(x-3)+2

(x—4)y +(y-4) =1

2 2
(x+1) L+t
36 9
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25 4
Xy
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Vertex is (-2, -1)
Opens right
Focusis (-1, -1)
Directrix is x =-2%

Vertex is (-1, -1)
Opens down
Focus is (-1, —1%)
Directrix is y =—¢

Vertex is (3, 2)
Opens up
Focusis (3, 2%)

Directrix is y =12

Centeris (1, 1)
Radius is 3

Center is (4, 4)
Radius is 1

Center is (0, 0)
Major axis lies on the y-axis
Length of the major axis is 8
Length of the minor axis is 2

Centeris (-4, 1)
Major axis is parallel to the y-axis
Length of the major axis is 8
Length of the minor axis is 6

Center is (-2, 0)
Radius is 4

Center is (-1, -1)
Major axis is parallel to the x-axis
Length of the major axis is 12
Length of the minor axis is 6




R N

Center is (2, -3) Center is (0, 0)
Major axis is parallel to the y-axis Asymptotes are y=2x and y =—2x, which
Length of the major axis is 10
9 y areequalto y=1x and y=—1x

Length of the minor axis is 4 .
g Vertices are (4, 0) and (-4, 0)

Q

Center is (0, 0)
Asymptotes are y =2x and y =—2x, which
areequalto y=2x and y=—-1X
Vertices are (0, 2) and (0, -2)

Center is (0, 0)
Asymptotesare y=2x and y =—-3X
Vertices are (0, 5) and (0, -5)
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Parabolas
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